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OAHTIEZ:

o Na ammavtoeTe € OAEG TIG EPWTATEIG.

e Or atmmavtioeig va dobouv 1o Trapoév BiRAidpio (booklet), To otroio
ATTAPAITATWG VA ETTICTPAPEI.

e OAol o1 uttoAoyiopoi TTpETTEl va @aivovTtal kabapd oTo BiIBAIGpIo oag.

o EmTpétTeTan N xprion PN TTPOYPAPMATICOMEVNG UTTOAOYIOTIKAG UNXAVAG.

o Agv emTpETTeTal N XPHon S10pBwTIKOU uypou/Taiviag.

e To BiBANiIGpIo (booklet) TrepIAapBavel dUO (2) eTITTPOOBETEG TEAIDES YIa
aTTavTAOoEIS (OTTOU XpeladeTal) Kal dia (1) ogAida yia TTPOXEIPO.




QUESTION 1

The following ledger account was recorded in the books of Vergina Traders at 31
March 2019.

Pavlos Account

2019 € 2019 €
Mar 1 | Balance b/d 8.000 | Mar5 | Bank 7.840
Mar 5 | Discount allowed 160 | Mar 11 | Return inwards 270
Mar 17 | Sales revenue 4.000 | Mar 31 | Balance c/d 7.450
Mar 20 | Sales revenue 3.400

15.560 15.560
April 1 | Balance b/d 7.450

On inspecting of the books, the following errors were discovered in the account of
Pavlos:

1. On 5 March Pavlos had paid the balance of his account and had deducted 2%
cash discount which had been credited to the discount allowed account.

2. The return inwards recorded on 11 March were correctly recorded in the
Return Inwards account as €720 but were recorded in Pavlos’ Account as
€270.

3. The sales recorded on 20 March were sales made to Palma and Co, which had
been incorrectly posted to the account of Pavlos.

Required:
(a) Update the Account of Pavlos, in the books of Vergina Traders, taking into
consideration the correction of errors 1 to 3 above. (3 marks)

(b) Name and explain two (2) type of errors, which do not affect the trial balance
agreement of a business. (Na avagépere kai va énynoere duo (2) €idn Aabwv, Ta
orroia o¢v ernpeadouv TNV apiBunTiky 100TNTa Tou looluyiou uiag EiXEipNONC)

(2 marks)
Total: 5 marks



Answer space for Question 1



QUESTION 2

The following is the extract of Sergio’s trial balance as at 31 December 2018:

DR CR

€ €
Buildings 720.000
Buildings: Accumulated depreciation - 1 January 2018 120.000
Trade receivables 51.600
Allowance for receivables (Allowance for doubtful debts) 3.800
Irrecoverable debts 3.600

The following notes, for the year ended 31 December 2018, are provided:

(@)

(b)

1. On 31 March 2018 the business acquired new buildings at a cost of €220.000.

Buildings are depreciated at 2% per annum on a straight line basis for each
month of ownership.

. Additional irrecoverable debts of €6.200 were discovered at the year end. It

has been decided to make an allowance for receivables of 5% on the adjusted
receivables at the year end.
Using the above information, answer the following questions (a) and (b):

Calculate (i) the depreciation charge for buildings for the year and (ii) the
carrying value (net book value) at the year-end. (2 marks)

Calculate (i) the irrecoverable debts and the allowance for receivables charge
for the year and (ii) the closing Net trade receivables’ balance. (3 marks)

Total: 5 marks



Answer space for Question 2 (show your workings)



QUESTION 3

Daphne, an accounting teacher, gave to her students the following information in a
test on the Statement of Cash Flow:

€
Operating Profit (Profit before Tax) 90.000
Depreciation charge for the year 34.000
Increase in Inventories 4.000
Increase in trade receivables 30.000
Sale of shares in other companies 10.000
Irredeemable Preference share dividend paid 7.000
Ordinary share Dividend paid 33.000
New issue of ordinary shares 60.000
Proceeds of sale of non-current assets 10.000
Purchase of non-current assets 90.000
Taxation paid 25.000
Increase in trade payables 20.000
Interest paid 6.000

Marios, a student, in his attempt to calculate the Net Cash Flow from operating
activities, gave the following answer:

€
Profit before tax 90.000
Depreciation charges (34.000)
Increase in trade receivables 30.000
Increase in inventories (4.000)
Increase in trade payables 20.000
Net Cash Flow from operating activities 102.000

The following comments of the above answer have been made by the some other
students in class:

1. Depreciation charges should have been added, not deducted

2. Increase in inventories should have been added, not deducted.

3. Increase in trade payables should have been deducted, not added.

4. Increase in trade receivables should have been deducted, not added.



Required:

(a) Choose and circle the correct answer (12 mark)
A. 2 and 3 only

B. 1 and 4 only

C. 1 and 3 only

D. 2 and 4 only

(b) Using the information given by Daphne to her students, you are asked to
calculate the Net Cash Flow from Investing Activities. (2 marks)

(c) Explain to your students the difference between the terms Cash and Profits (Na
e&nynoere aTtous uabntés oag tn diagopa uetaéu Twv opwv Metpnta kar KEpon)
(Up to 60 words) (2 marks)

Total: 5 marks
Answer space for Question 3 (b) and (c)
(b)



QUESTION 4

Sugar Free Ltd is considering to invest €100.000 in order to expand its cafeteria
capacity. The project will last for four (4) years and the cost of capital is 10%. It has a
choice of two Options. The following information is provided for Option 1.

Option 1:

e Payback period: 3,5 years
e Accounting Rate of Return (ARR): 9%

For Option 2, the following information is provided:

It is estimated that the net cash flows at the end of year 1 will be €40.000, €35.000 at
the end of year 2, €33.000 at the end of year 3, and €37.000 at the end of year 4.
The resale value is NIL.

Required:
(a) Calculate the payback period for Option 2. (1 mark)
(b) Calculate the Accounting Rate of Return (ARR) for Option 2. (2 marks)

(c) Suggest which option should be chosen by Sugar Free Ltd, explaining your
answer (up to 70 words). (Na eionyn@cite mmoia emmiAoyn 6a mporiunBei ard tnv
eraipeia Sugar Free Ltd, rekunpiwvovrag tnv amavinor oag) (2 marks)

Total: 5 marks

Answer space for Question 4
(@)






QUESTION 5

You are an accounting teacher at Cyprus Public Lyceum and you are given the

following Statement of Changes in Equity.

Vergina Plc
Statement of Changes in Equity for the year ended 31 December 2018
Share Share General | Revaluation | Retained Total
Capital* Premium Reserve Reserve Earnings €
€ € € € €
Balance at start | 400.000 40.000 60.000 95.000 595.000
Issue of shares | 160.000 96.000 256.000
Land 20.000 20.000
Revaluation
Profit for the 114500 | 114.500
year
Dividends
paid** (40.000) (40.000)
Transfer to 10.000 (10.000)
general reserve
Balance atend | 560000 | 136.000 | 70.000 | 20.000 | 159.500 | 945500
Notes:
* Ordinary shares of nominal value €0,50 each
**The new shares were not eligible for the dividend payment
Required:
1. Calculate the following (show your workings): (3 marks)
(a) The number of new shares issued during the year
(b) The issue price per share
(c) The dividend paid per share
2. Show the journal entry regarding the Land revaluation. (2 marks)

Total: 5 marks
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Answer space for Question 5
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QUESTION 6

The following data is given by Mr. Petros, an accounting teacher, to his students in
order to test their understanding on the topic of breakeven analysis:

The “Tiger Prawn®, a famous restaurant, has a capacity of 50 customers per day, and
opens for 360 days in the year. (Assume that the restaurant works on full capacity)

The following information relates to cost and revenue:
e FEach customer spends an average of €30 on a meal.
e Variable cost represents one third of an average meal price.
e There are five employees who are each paid €40.000 salary per annum.
e Other cost includes: Premises annual depreciation €25.000, Other fixed costs
amount to a total of €25.000 per annum

Required:

(a) Calculate the number of meals which must be sold for the business to break
even, as the students were required to do. (3 marks)

(b) Eleni, a student, has difficulties in calculating and understanding the importance
of Margin of Safety for the business. You are asked to calculate the Margin of
Safety of the above question and explain its meaning to Eleni. (Mia ua6nrpia, n
EAévn, éxel BuokoAiec aTov uttoAoyioud kai atn karavonaon tou [NepiBwpiou
Aopaiciac. Na urroAoyioere 1o lNepiBwpio AopaAgiag tng o mavw GoKkNong Kai
va eénynoere atnv EAévn tnv évvoia Tou). (2 marks)

Total: 5 marks

Answer space for Question 6



QUESTION 7

MULTIPLE CHOICE (M/C) QUESTIONS:

Choose and circle the correct answer in the questions 1to 5 below:
1. Sales in the year ending 31st March 2019 were €43.200. Identify the
gross profit ratio, as a percentage if: Opening inventory, purchases,
carriage inwards and closing inventory were €4.400, €21.400, €1.200 and
€5.400 respectively.

A. 40%

B. 50%

C. 33%

D. 100%

2. Which of the following best explains the term Prime Cost?

A. The total cost of all the most important costs

B. The total of all the direct materials costs and all of the direct labour costs

C. The total of all the direct material costs, all of the direct labour costs and all
other direct expenses

D. The total of all the direct costs and all of the manufacturing overhead

. Capital Expenditure is defined as:

3
A The extra capital paid in by the owner

B. The cost of running the business on a day-to-day basis

C Money spent on buying non-current assets or adding value to them
D Money spent on selling non-current assets

4. Which of the following are not true? A Bank Reconciliation Statement is:
I. Part of the double entry system
il. Not part of the double entry system
iil. Sent by the firm to the bank
V. Posted to the ledger accounts

(i), (iii) and (iv)
(i) and (ii)

(), (ii) and (iv)

(ii), (i) and (iv)

o0y
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5. Red Rose, a manufacturer of cosmetics, has decided to repackage a slow moving
product, in a new cover and sell it at a special offer. The details are given below:

Per item

Cost of manufacture €3,50
Repackaging cost to be incurred €1,75

Selling price (Special offer) €4,00

At what amount should each item be included in inventory?
A €4,00

B. €3,70

C. €2,25

D €2,95

(1 mark for each question)

Total: 5 marks

(TOTAL MARKS 35)

TEAOZ MEPOYZ A
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Emimrp6o0eTn ogAida yia aravrioeig
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Emimrp6o0eTn ogAida yia aravrioeig



NMPOXEIPO



